PuzzleVoyager
yag

Solution 1

AKaFyYcCD(Y KAEUQS)BGPETFOK

W)y X S F

FOF(DETTI

L

U R(F UNGA

] WA O K K |

L

K R B

HETATLTO

GHTOCOHWG X
L EXEMES)ST

G
N
I
w

ONNASJO|W W C|A

EMNC|G|R|{W M R

P N

rlu — 2 ¥ WS — > > w
]l X oo - 2 4 = 3 bW
PFW\MPONEDUH
n)O < yvd]l— O O I O x
= Z O = w o> x =
w oo o> Ll D < > = o
o= o> ~ EWOW\_._..._.,
- 0 = ] S - a >
e v = W SYK\C-J}U
o O 4 4 < U I ew|u
LﬁCHAP E.I\SUFE
o 0o =2 = SV:EU@
O v oa LO.LE-.n\_\pm_)
= 0 O = wilo |Z[w
wn T O m al|l<|T|T
h¥ [<= >
S o)
&) x < @

- I >

wvi O O




PuzzleVoyager
yag

Solution 2

F

REBMOS)Y HNT

FL(TSURGCNE)S B
J(WYA T G G MK W K
LCVTYPWX

L

S PQOS QXS

J

N(T)s(B A RRACK)I

K G X D E

G Y R N E
T
P

@ v =

Y
o (=]
o =
o o
(%] [N,

—lz=|x =
> \o KﬁD W O
LﬁW w zZ KVW o O\AW O - > w RVM o

HBTNNUDADECALVUWKL

K
JXD(GELTOOB)

F(S N1 HPUAD)E X

T(T O W)F

B

J] OGEARXTFMIJI DBMDILF

UBAWY



PuzzleVoyager
yag

Solution 3

THXUHGCMINAGAP)ND(AUTO SYSN

(LA 1 TEFVUNVQ(EGNAR)L AF

G

H)F F DT T/F S

K C A I

J

DN XRYV

U/ T A F)N G

KDKTDOKOQWURUMOQHT
TEALTHCGDGO QN

B FRWHBIRATKN

J

G T

J

ETTOT)P AW

R

kY

S

Q P W

S
U

O =2 2

06 0SMEKPFN
D 1 S MO UNT)I

DX MRAOAK

AT

S(A uw un U

&) Y. = T o > u

= O = @ = =

O 0O UV L wn = o

B(Y PEE L SJL

] 0O W(S
WA NT)D P C|BJO U Y Y
FWMOG

F A U

L O|RJU O H

G O(LUFNATZC)HH

J

OoaQTwNBQlO)O H A(L

T



